TN —EX SEGE/RESREEO~REEN/FEH-LY 202153 13HHIE
JEES & iR X [k HiE wmk | EAES E_*
305] T5mW 734 |- 918 |[£ZFAE| 2 6050 2 YA104
315 5 | 1320 |-] 1516 |£Z@AE] 2 6050 2 YA102
319] T4 | 1433 |-] 1606 |&zEmE] 2 6050 2 YA101
321 5 | 1514 |-] 1659 |£Z2@AE] 2 6050 2 YA104
325] T45m | 1748 |-o] 1935 |&zEmE] 2 6050 2 YA102
327] T4 | 1853 |-] 2029 [£iZFWEE| 2 6050 2 YA101
JEES & iR X [k HiE wmk | EAES E_*
853] #miER | 1037 || 11:38 |&£2EE] 2 6050 2 YA104
855] FEER | 1224 |- 13:20 [&EHE| 2 6050 2 YA103
E 12 Bx X [k HiE | ERES E_*
3155| B&RIIER 9:37 —| 10:19 |sz=ER#EO 2 AT600/AT700|  1+1 AZ222+AZ2231RFEIAIZUR IV R IO R TLR1E ]
3156D|sz=mreEn| 10:22 |—| 1153 |&Z2EWN 2 AT600/AT700 1+1 | AZ222+AZ223|REIAIZUY IR IHRTLRIE]
3758] F5 | 1642 <] 16:33 |[HEBR 2 AT600/AT700|  1+1 |AZ222+AZ223|tRETAIZUR U FTHRTLRIE
3159 <t 16:47 |—| 18:.03 |sz&mEsEn 2 AT600/AT700|  1+1 | AZ222+AZ223JIREIAIZUR DU I HRTLR3F ]
3160D|sz=mre#n| 18:09 |—| 18:30 |&£ZAE 2 AT600/AT700( 1+1 | AZ222+AZ223|REIAIZUY IR IHRTLRIE ]
3160D| &;2HE| 18:38 |—| 1955 |[&FEEW 1 AT600/AT700| 1 AZ223 [HSETAIZURSURTHRTLR3E |
2324D| &£ZHE 20:36_ — _21;44 SEEN 2 AT600/AT700|  1+1 AZ221+AZ222
E & iR X [k HiE | ERES
504D|2#mmrun| 546 || 608 |&£EHE 1 AT500 1 AZ101
2306D| &:2AE| 6:12 -] 730 [£=2EE#W] 3 AT500 | 1+1+1 [azioseazioreazios
2108D|2#mm=sn| 7.08 |—| 838 [£E:EW 1 AT500 1 AZ101
3310D|£Z:EE| 945 |-] 1044 |&EER] 1 AT500 1 AZ105 |H&EIL—1015 ]
3312D| £:2MEB| 1232 || 1334 |[£:ER] AT500 1 AZ101 |HEML—1115 ]
2314D| &:2AE| 1323 |-| 1439 [&£EEW 1 AT500 1 AZ103
2316D| £:2MEB] 1419 || 1534 |[£2EHR] 2 AT500 1+1  |Az107+Az109|T ) L—1175 ]
2318D| &:2AE| 1542 |-| 16553 [&FEEW 1 AT500 1 AZ101
2320D| £:2HE| 1635 |- 1755 |£2EWR] 2 AT500 1+1 | AZ103+AZ105
2322D| £:2HEB| 1746 || 1854 |[£:EH] 2 AT500 1+1  |Az107+Az109|T 1)L —129& |
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